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Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
Wrong answer.

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.
Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

. If there is any sort of ambiguity/mistake either of printing or

factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : Ifa candidate is found copying or if any unauthorized
material is found in histher possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently
from all future examinations.
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(1) T HEFI H1 AW FAE & AW &
T § |

(2) T FAH & Toh | ek FgFet 8
THa 2 |

(3) 9§ FE HT Alswge &9a1 g Al
g T THTE B 9TaT § |

(4) HEFT FI NaTeies TE fran s
ThAT 8 | '

frafafad C++ weamt w fomm et ;
int x;
int& y = x;
%W:y=25;x=2*x+30;x3ﬂ'{y
% A I IS Hdl &
(1) y=25,x=25
(2) y=25,x=80
(3) y=80,x=280
4) y=25,x=30

e femaent wate et et ?
(1) ETEUheheheT 3a1eH
) fara =fda

(3) "edl-oiae SRy
(4) Tedue gy

fre e & e § walfs geen
Tt 8 7

(1) ufsstes (2) far

(3) WiEsR (4) 3ed

G2 1 Al (TRWH) $9H % forg
form 1-a =1 3EamTe BT B 2

(1) S%C (Buffer) (2) 9T (Throw)
(3) %9 (Catch) - (4) ®ies (Hold)

Which of the following is incorrect

property of a constructor ?

(1) The name of a constructor is the

same as the name of the class.

(2) A class can have more than one

constructor.

(3) Constructors execute automatically

when a class object is created.

(4) Constructor cannot be overloaded.

Consider  the
statements :

int x;

int& y=x;
The statement : y = 25; x = 2 * x + 30;
updates the value of x and y as
(1) y=25,x=25
2) y=25,x=80
(3) y=280,x=80
4) y=25,x=30

Java does not support

following  C++

@) Hierarchical inheritance
(2) Single inheritance
(3) Multi-level inheritance

(4) Multiple inheritance

Which fields enjoy highest degree of
protection in Java ?

(1) Public
(3) Private

(2) Secure
(4) Ultra

For creating our own exception, we
have to use which key-word ?

(1) buffer (2) throw
(3) catch (4) hold

12
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12

ITH S5 @ ) (BST) 1 URe-
TS g B

(1) KIJFGSMLPU

(2) FGIKLMPSU

(3) FKIGLMPSU

(4) GFILPMUSK

fr= & @ *19 @1 BST dodier &1 alieht
TR

(1) 3MSE-IATR
(3) TRE-3MTER

(2) -3
(4) TH-ITER

Th V 99 91el AT o Wi o | gl
(1) v—1FFR (1) 2) v fFR
(3) v+1RFR @) v+2fEm

G H ToheT-HId SLAH I FHET
YT fohees: g ETE 8 ?

(1) T wemfeen

(2) FTEhA TENTER

(3) Tere weriiften

(4) ITFOR TETIEA

FEehel TN T T TIBH hIPci oA

8 (3G edges N AT E B)

(1) O(E log V), V feigati (Vertices) s
e R |

(2) O(E log E)

(3) O(E)

(4) O(log E)

Post-order traversal of the above BST
is

(1) KIFGSMLPU
(2) FGIKLMPSU
(3) FKIGLMPSU
(4) GFILPMUSK

Which is not a way for traversal of a
BST ?

(1) out-order
(3) post-order

(2) pre-order
(4) in-order

Spanning tree of a graph with V
vertices has

(1) v-1 edges
(3) v+ 1 edges

(2) v edges
(4) v+2edges

Single-source shortest path problem in -
a graph can be solved using
(j) Prim’s Algorithm

(2) Kruskal’s Algorithm
(3) Dijkstra’s Algorithm
(4) Euler’s Algorithm

Run time complexity of  Kruskal’s
algorithm is (If E is no. of edges in the

graph)

(1) O(E log V), V is no of vertices
(2) O(E logE)

(3) O(E)

(4) O(log E)
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15.

s @ (foafee o) 6 as8 @

feufa o sirafRad (sfeer) 2

(1) O(n) (2) O(n?)

(3) O (4) O(log n)
ool dic 1 fehat qorTeTl i STTavaehal
gedi R ?

(1) n2 (2) n!

(3) n(n—1)/2 (4) n

fapep—i1¢ Temfien 1 SR e 1 2w 8
(1) T(n)= ©(n?)

(2) T(n)= © (nlogn)

(3) T(n)= O (n?logn)

(4) T(n)= © (logn)

TER ®RE H G0 H HAT
T(n) = T(/3) + T(2n/3) +n &

(1) Tm)= O (n)

(2) T(n)= © (nlogn)

(3) T(n)= O (log logn)

(4) T(n)= © (logn)

L)

5
ITTH UTH hl ATFFATAEH HIPIRId 2 :
(1) 3 (2) 4

G 6 @ s

|

11.

12,

13.

14.

Worst-case complexity of Linear
search is

(1) Om) (2) O(n?)

3) O (4) O(log n)

Total no. of comparisons required in
Bubble sort is

(1) n?
(3) n(n-1)2

) n!
(4) n

The best case running time of
Quicksort algorithm is

(1) T(n)= © (n?)

(2) T(n)= ® (nlogn)
(3) T(n)= O (n?log n)
(4) T(n)= O (logn)

The running time of the recurrence
function T(n) = T(n/3) + T(2n/3) + n is

() T(n)= O (n)

(2) T(n)= O (nlogn)
(3) T(n)= O (log log n)
4) T(n)= ® (logn)

Cyclomatic complexity of the above
graph is :
(1) 3
3) 6

2) 4

4 5
12
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18.
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20.
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(1) W& e, Taet A

(2) oTiedt # 37ex, el & wret
(3) Redt ¥ 37ex, vget H wrat
(4) H U &l

ww@maﬁqﬁaﬁﬁ(mnﬁm
29

(1) AVLE
B) =&

(2) 234&
4) ET=t=d

%M # Wd (layer) SN e I
IR - e e T AaTE T et B 7
(1) AINFa R (2) o foFs R
(3) TRAThIA TR (4) T AT

3. 18,31, gey ufewy )+ ¥ wd
(layers), TCP/IP Worwla-gz #
IR § 2

(1) 93F, JeaTeh

(2) USIOTH, A

(3) hifshar, g

(4) sar-Toie, TedteheH

e i —_—h ] it ot e | T oo s g T

19.

©

Starting with S, what is sequence of
vertices in BFS of the above graph :

(1) S,A,B,E,C,D,E
2) S,B,C,D, A,E,F
(3) S,C,D,E, A,B,F
(4) S,B,C,A,F,D,E

Which type of behaviour a stack
exhibits ?

(1) First in, first out

(2) Last in, last out

(3) Last in, first out

(4) None of these

Which is a. self-adjustment Binary
Search Tree (BST) ?

(1) AVL tree | (2) 234 tree
(3) Splay tree (4) Red black tree

Which layer offers dialog control and
token-management services ?

(1) Physical layer

(2) Data Link layer

(3) Application layer

(4) Session layer

Which layers of OSI reference model
are missing in TCP/IP protocol suite ?

(1) Session, Network
(2) Presentation, Session
(3) Physical, Transport

(4) Data-link, Application
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23.

24,

25.

26.

217.

frafafea & @ forw wifén 3§ DC o =&
37

(1) THYEE NRZ

(2) THYHE RZ

(3) 9eR RZ

(4) BTERX

Frefafaa & @ frm $uie wmifen
aed s 3feRes 8 2

(1) 1B2B (2) 4B5B

(3) 5B6B (4) 8BIOB

HH T AT IUAMNIAT HRFHEA DNS
HITY T LT & ?

(1) "o
(3) 8=

e TR % Wereia d Sty e |
IS gRI ST BT 8 2

(1) CSMA JiZrhia

(2) CSMA/CD Wrehict

(3) CSMA/CA Tarehict

(4) 2R 10T MEIhial

g Toh THL ! T &

(1) 802.3 (2) 802.4
(3) 802.11 (4) 3 q HIE T

721, feraent fee @ 7
(1) TEAFTH AR (2) JIE AR
(3) THCTR  (4) ZEIE TR

= @+ @1 Ffe-wMus Fe (error-
correcting code) &l & ? '
(1) 2f e

(2) f-goum =i

(3) .44l

(4) T I IS

) gm
(4) ggadt

| 21.

|

22.

i 23,

24.

25.

Which of the following coding does
not contain DC term ?

(1) Unipolar NRZ
(2) Unipolar RZ
(3) Polar RZ

(4) Manchester

Which of the following Ethernet

encoding has the highest redundancy ?
(1) 1B2B (2) 4B5B
(3) 5BéB (4) 8BI0OB

Which network - utility —program
provide the DNS lookups ?

(2) dig
(4) All of these

(1) nslookup
(3) host

The jamming signal is generated by
source node in which type of protocol 7

(1) CSMA Protocol

(2) CSMA/CD Protocol
(3) CSMA/CA Protocol
(4) Token Ring Protocol

Which is a collision free protocol ?

(1) 802.3 (2) 802.4
(3) 802.11 (4) None of these
UDP is part of

(1) Application layer (2) Session layer

(3) Internet layer (4) Transport layer

Which of the following is not an error-
correcting code ?

(1) Hamming codes
(2) Reed-Solomon codes
(3) BCD

(4) Binary convolutional codes

12
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30.

31.

32.
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WPA2 & fou uferam fafr fre w
i g ?

(1) RSA
(3) AES

(2) DES
(4) RC4

YEITCA IAT-+E | i €t wRfe fafy
T et off ¢

(1) Tewaagx wsfen

(2) Toih e usfen

(3) ofr= s Wwfen

(4) wAfST

W Jeaeh g (Network numbers)
EARELED % I:
(1) CERN

(3) DRDO

(2) ICANN
(4) ERNET

TF SQL STeRd A T RS # g
T s s 2

(1) Delete table <table_name>

(2) Drop table <table name>

(3) Erase table <table name>

(4) Alter table <table name>

THE W SEUW H TR 5wl &
dFEHETR ? |

(1) "efie -->gles

2) @ ->d

(3) W->de

(4) TS >

e TPUAELASE3 PUARAEE TELATEUEY UMAY] TS e e} T At i e it Fempmnomi T i Tyt s 5Lt TR SRS YL TRAES 42 TP AR ] TR

| 28.

30.

31.

32.

The encryption method for WPA2 is
based on

(1) RSA
(3) AES

(2) DES
(4) RC4

In early ARPANET, which routing

method was used

(1) Distance vector routing
(2) Link state routing

(3) Least cost routing

(4) Flooding

Computer Network numbers are
managed by

(1) CERN (2) ICANN

(3) DRDO (4) ERNET

A command to remove a relation from
an SQL database

(1) Delete table <table_name>
(2) Drop table <table name>
(3) Erase table <table_name>

(4)I Alter table <table name>

In a process state lifecycle diagram the
spooler works between the stages

(1) Submit --> Hold
(2) Ready --> Run
(3) Run --> wait

(4) Hold --> Ready
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(1) b w2 Rad w9 3 %0 T 1o 8
S 0§ e et Fehel 2 |

(2) GEYAT Y TEAT A ht & |
7 AT SR B | '

(3) T gUidd Ve T Ther e H
SRR |

(4) T gUlEra Re avt wfwanstt ® @
FAH AAAE@E |

freferea & % ft Sregfein witen
sk, YEwll (WRaYH) %1 SR a9
Tl B 7

(1) SR Srgfer

(2) B W, TgH T IR

(3) TR SiTe B Wggfer

(4) s Ufe Argferm

fafafea aRfEn fawm o &1

forem =t

1. TER
2.3

3.318 fewh grsa
4,39 T
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(1) WIS

(2) e ANTEd

(3) W AAR

ORERLE

| 33.

B Uy

34.

35.

36.

Which is a correct statement for the
safe state ?

(1) A state in which there is at least
one process that can run to
completion.

The number of resources are less
than or equal to number of
allocations.

A safe state leads to a circular
wait.

A safe state leads all the processes
run to the completion.

(2)

3)
4)

Which of the following process
scheduling algorithms could result a
starvation ?
(1) Priority scheduling
(2) First-come, first-served scheduling
(3) Longest job first scheduling
(4) Round robin scheduling
Match the following Operating System
entity ?
- A. Threads 1. Processor
B. Virtual 2. Interrupt
Address Space
C. File System 3. Hard Disk Drive
D. Signal 4.Main Memory -
A B C D
(H 1 4 3 2
2) 4 3 1 2
3 2 3 4 1
4 1 3 4 2
Which components of program state

are shared across threads in a
multithreaded process environment ?

(1) Register values
(2) Global variables
(3) Stack memory
(4) Heap memory
12
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gy TETNen I YsATR  IrEIEeE
AT BT IRomm g

(1) SO AeEE

(2) e Rreen gge

(3) HETEAT T T THEd] ITA
(4) FEaA

= 8 3 = s faew (0S) g
AMTa; T8 P S @ 2

(1) ITER 3T Teh o

(2) fard fasme

(3) TR ZEfem

(4) TFEE

Teh g~ SIHER 7 1 i 91 R 81 8 7
(1) ygeHgls

(2) B ITANTHAT ST

(3) SHIMTHT IATH Thet

(4) g fergaeieran

= o @ w9t Reen wfa f 3of
TR e

(1) 9gaH (2) wfater fm
(3) HTEA H HEGE (4) QAT

frr & @ F @ A B R we
wer
(1) Sleep() (2) Fork()

(3) SetTimer() (4) Chmod()

OS #, = # @ =l &Y, wes W1aw i Ay
TRATTE B 7
(1) new - (2) start

(3) running (4) ready

38.

39.

40,

The deadlock-avoidance schemes like
the banker’s algorithm would lead to

(1) Increase overhead

(2) Increase system throughput

(3) More concurrent use of resources
(4) All of these

Usually which of the following is not
done by an OS ?

(1) Power on Self Test (POST)
(2) Resource Management
(3) Error handling

(4) Encryption

Which is not an advantage of a multi-
processor system ?

(1) Increased throughput
(2) Better user interface
(3) Economy of scale
(4) Increased reliability

- Which is not a category of system

calls ?

(1) Identification
(2) Process control
(3) File manipulation
(4) Protection

Which is not a system call in Unix ?
(1) Sleep() (2) Fork()

(3) SetTimer() (4) Chmod()

Which is not a valid state of a process
inan OS ?
(1) new (2) start

(3) running (4) ready
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Seey feomeR gy ufedt B d @ el
tfedt i vrEE % Rw g TS Heh
(key) 2 :

(1) HEieeh 2) gRH

(3) WA HI (4) wTsHd 6
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(1) ufed sif

(2) weIfafEd

(3) THifsrrer s

(4) Hige

i denmRaHIaT T 2 ?
(1) 37U THHeA

(2) Torue e

(3) AR T

(4) feefivm e

T e (relation) BCNF ¥ 2, aft 57
3NF ¥ 8 31

(1) IEFd B FRARIR |

() IEE B ERT H A R |

(3) =t ardioye weifires € |

(4) wisafrifewh e Hhig |

=1 3 @ #1 ot u wEa-mEem fafy
TR

(1) TaHRee g

(2) HHoR T

(3) STEER Y

(4) 39 Tasime vaag

e 3 7 = ) e §
(1) i s (2) A3 oY
(3) REAT (4) HIFIIA

44,

45,

46.

47.

48.

The key -chosen by database designer
as principal means of identifying
entities within an entity set, is

(1) Candidate key (2) Super key

(3) Foreignkey (4) Primary key

The database must not contain any
unmatched foreign key values. This
property is known as

(1) Entity integrity

(2) Atomicity

(3) Referential integrity

(4) Consistency

Which is not a database anomaly ?
(1) Update anomaly

(2) Create anomaly

(3) Insertion anomaly

(4) Deletion anomaly

A relation is in BCNF if it is in 3NF

and

(1) Primary key is the foreign key

(2) Primary key is not the foreign key

(3) All the attributes are atomic.

(4) If every determinant is a
candidate key

Which of the following is not a valid
file organization method ?

(1) Sequential Access

(2) Circular Access

(3) Direct Access

(4) Indexed Sequential Access

User’s view in a database is also called
(1) External view

(2) Conceptual view

(3) Internal view

(4) Contextual view

12
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eye SeeE TarRde ¥ i 91 9
&l g ?
(1) I/
(3) =™

(2) Y HIged
(4) &8 Ao

Tfedt @2 X 3R Y & o= argqd) da9y de
& foe X 4 Y # AR wifdaferdt 2

(1) THATH (FA L)
) A HE (I )
(3) FATH (BF g )
(4) ®EaHE (g A

®F @ FAW SQL THESEA hl ue
TEAT § HRRA-Tg TRIA HI
gferfferes s 8 2

(1) Select (2) From
(3) Where (4) as
feaffgad a s air, s & T

Terd wfaffes 8, S TR A
(arity)l’@ﬁg

(1N r$<s={tq|terandqes},

2) rns={t|terandt e s}

B) rns=r—(r+s)

(4) r—-s={t|terandt ¢ s}

ST e bl IATRIA HT 3YINT HTh
wnfera & foha oI wepan 8

(1) Deletion (2) Insertion

(3) Updating (4) Selection

49.

50.

51.

32.

A relational database environment has
all of the following components except
(1) Users

(2) Separate files

(3) Database

(4) Query language

For a binary relationship set between
entity sets X and Y, the mapping
cardinality from X to Y is :

(1) One to one

(2) One to many
(3) Many to one
(4) Many to many

Which clause represents a Cartesian-
product operation in a basic structure
of an SQL expression ?

(1) Select (2) From
(3) Where (4) as

Which of the following is an incorrect
representation for the r, s having the
same arity ?

(1) rxs={tq|terandq € s}
(2) rms={t|terandt e s}
(3) rN s=r—(r+s)

(4) r—-s={t|terandt g s}

The content of the database cannot be
modified using the operation

(1) Deletion (2) Insertion

(3) Updating (4) Selection
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58S.

Tl 1 wRthg (TfFas)

JTHETT T o
g
(Tfaat)
A. Tfeated L3¢ a - B
Elegd T8 1B — |.
§ =®esd, dl
ay—)r‘ﬁ@%ﬁ
B. YA 2. 3¢ o — Py
@lﬂﬁ,?ﬁa—)ﬁ
@Eﬁ@a—)}'
Biesd
C. gEfefed 3.8 o > B
giesd g B —
y ®iegd, @
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D. WerERfad | 4. afg o VewygH
%1 A B TS B
ga,?ﬁa%ﬁ
glogd
E. Wiy | 5. 3¢ a — B
s TSy
Ufeegga @1 8
g, @ ya —
vB Eieed
A B C D E
M4 5 3 1 2
@5 2 3 2 1
G4 3 5 2 1
@1 3 2 4 5
FTP WErhiel g1 W fAferfga i
T () A S AR 2
. T80 . 921
[1I. 9120 IV. 9 18
(1) a1 (2) 1@ [ gHT

(3) UTAIIEH  (4) Hhad [V
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55,

Armstrong’s axioms

Armstrong’s Rule

axioms

A. Reflexivity 1. If & — B holds
~and Yp o> O
holds, then ay

— 0 holds

B. Augmentation | 2. If o — Py
holds, then
oo —> B holds
and o > vy

holds

C. Transitivity 3. If o = B holds
and B — vy
holds, then

o — v holds

If o is a set of
attributes and
B < a, then
o. — B holds

D. Pseudotran- 4,
sitivity

E. Decomposition | 5. If o. — [ holds

and y is a set
of attributes,

then yoo —
vB holds
A B C D E
(1 4 5 3 1 2
2y 5 -2 3 2 1
3) 4 3 5 2 1
4) 1 3 2 4 5
Which of the following Port
address(es) used by the FTP protocol ?
[. Port 80 II. Port2l
I1I. Port 20 IV. Port 18
(1) Tonly (2) BothIandIl

(3) BothIland Il (4) Only IV

12



56.

5T

58.

59.

60.

61.

12

qﬁm’ﬁ&aﬁaﬁm(um)wﬁ?m
e

(1) 91 Fev

(3) TR gar

(2) SHFAm
4) Iaft

IS T h1 HgT 7] &

(1) 2 s are

(2) MY IFe _
(3) IINUA foieh & @1y de
(4) e w9 3w

ST U 39 W g e 2
(1) Bing

(2) Google

(3) DuckDuckGo

(4) Lynx

HTML a9 95 % 3fid oy =) fafés
R % o b 31 1 39vT e s
29

(1) <HTML>
(3) <HR>

BIE foies s o forw fore 371 57 S9aiy
Teram StTar 8 2
(1) <TH>
(3) <A>

FIFO SiTsq Srgyfer wefeen 1 3
FU U A T e a1 fp AR 2
1 HIGd & IS 2Te B
S TR | I Ty
I 10.00
2 10.10 1.00 hrs

(2) <HEAD> -
(4) <BODY>

(2) <UL>
4 <B>

W |
2.00 hrs

| 3 10.25 0.25 hrs |
(1) 7.90 hrs (2) 13.25 hrs
(3) 3.25 hrs (4) 2.63 hrs

L e e . e et e et

!
|
1
!
!
|
|
|
|
|
I
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58.

50,

60.

61.

Which is the part of Uniform Resource
Locator (URL) ?

(1) Port Number

(2) Domain Name

(3) Logical address

(4) All of these

The hyper text is also referred to as

(1) Picture with test

(2) Normal test

(3) Text with URL link

(4) Text in capital form

Which is NOT a web search engine ?
(1) Bing

(2) Google

(3) DuckDuckGo

(4) Lynx

Which tag is used to specify the top
margin of HTML web page ?

(1) <HTML> (2) <HEAD>
(3) <HR> (4) <BODY>

Which tag is used to create a hyper
link ?

(1) <TH>
3) <A>

(2) <UL>
(4) <B>

The average turn around time using
FIFO job scheduling algorithm for the
jobs are arrived as indicated is

JobNo. | Arrival Time | Run time
1 10.00 2.00 hrs
2 10.10 1.00 hrs
E 1025 | 0.25hrs
(1) 7.90 hrs (2) 13.25hrs
(3) 3.25hrs (4) 2.63 hrs
o



62.

63.

64.

65.

66.

67.

68.

o & a8 S Rre-THR A ® 2

(1) ul (2) ki

(3) ol (4) dl

Su 37 1 W W NG HIEEHA
(Rt Siie ST ) i el @ ¢

(1) no resize (2) name

(3) src (4) scrolling

T A TE. § H e wH S
T

(1) e st bt

(2) T T HIA

3) TeA s

4) Tes g

=, T, § JEeRe Sed % ferg
S ET &7 S BT ?

(1) ejs (2) body

(3) css (4) script

frer 1 AT . S sH
FITERER

(1) <check>

(2) <checkbox>

(3) <input type="checkbox™>

(4) <input type="check™

S A I W ATkl WS
IRt =T 8 ?

(1) e (2) T

(3) wifeT @ fears
_ﬁﬂﬁ@ﬁﬁwwmzﬁﬁ%
(1) /O ®iHe

@) T

3) @%ﬁrw

| 62.

E———

67.

|
|
}
|
|
? %68.
i
'
!
!
2
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63.

64.

66.

Which is not a valid list type in HTML ?
(1) ul (2) kI
(3) ol 4) dl

‘Which attribute of frame tag specifies

. the filename to be loaded ?

(1) no resize
(3) src

(2) name
(4) scrolling

Which is not a valid form control in
HTML ?

(1) Radio box contol
(2) Text input controls
(3) Random controls
(4) Hidden controls

Which tag is used for embedding

JavaScript in HTML ?
(1) ejs (2) body
(3) css (4) script

What is the correct HTML for making
a checkbox ?

(1) <check>

(2) <checkbox>

(3) <input type="“checkbox”>
4

Which is the last phase in waterfall
model ?

(1) Testing
(3) Coding

<input type="check™>

(2) Maintenance
(4) Design

Which is not a functional requirement ?
(1) /O format

(2) Reliability

3) Storage structure

(4) Timing and Synchronization

12



69. T WAl M@ # FH/gEEEN U

70.

71.

72.

73.

12

Frefasare 2
(1) 2%l
(3) SURR

(2) vageHd ufedt
(4) TEg

3.3TR. SEUW § AT 7 d 7
(1) ST RR A Fay

(2) QUL dem A ey

(3) @ e ¥ way

(4) Qv H ey | E

i Sohfater 3 % @ e
YRR TE B 7
(1) SawUfiT  (2) 2y wufed

(3) HIRTFURT (4) e Hufen

I A1 AT T TFR TR 7
() SRAET  (2) g
(3) EHART 1) forem ST

|

!

|

!.

|
S G AT N < arihs e l
Y (3Tif) & 7 E
(1) o HirifRrd |
(2) ST RIS }
|

|

!

' (3) Tadfrr wrifRed

(4) AEFARRTS SIS

15

69.

70.

71.

12

73.

In a data flow diagram, a circle/bubble
represents

(I) Data flow

(2) External entity
(3) Data store
(4) Process

What is cardinality in an ER diagram ?

(1

Relationship between two data
stores.

(2) Relationship between two entity

sets.

between two

(3) Relationship

attributes.

between two

(4) Relationship

processes.
Which is not a type of coupling in
software Engineering ?
(1) Data coupling
(2) Stamp coupling
(3) Context coupling
(4) Content coupling

Which is not a type of testing ?
(1) Proper testing

(2) Unit testing

(3) Integration testing

(4) System testing

Which metric provides a quantitative
measure of logical complexity of a
program ?

(1) Loop complexity

(2) Data complexity

(3) Behaviour complexity

(4) Cyclomatic complexity



74.

73,

76.

77.

Man
37 ER 3@ A 9 (I5) B
(1) e (2) Tt
(3) HF (4) I
I gl fohE T STHTRA B 2
(1) T T
(2) weATHeE TH THE
(3) wAl THI
(4) TgeT HicH!

COnstructive COst MOdel (COCOMO)
Heet, & w1 eI Te L 8

(1) ST LT A

(2) e fesrg w Hige
(3) U IfhaR-E HigH
(4) Tea FfeheaFeR-R Hisd

FfgeaTy gfea § 9N I@dd =0 6
9T eI WTEHAT T WEl 3 B

(1) SR, TR, Hegaa, FiaH
(2) TR, FHEFH, UM,
(3) HEZFEH, T, TellsREM, 2o
(4) eI, T, SHH, Tl

16

R ———————E SRRl e

73,

76.

77.

Man

Weight is a in the above ER diagram :

(1) entity (2) relation

(3) context (4) attribute

Tabulation method is based on

(1) Euler theorem
(2) Intermediate value theorem
(3) Fermat theorem

(4) Regula Falsi

The Constructive Cost  Model
(COCOMO) model does not address
the area of :

(1) Application composition model
(2) Early design stage model
(3) Post architecture-stage model

(4) Mid architecture-stage model

The Rational Unified Process correct
sequence of four discrete phases in the
software process is

(1) Inception, Elaboration,
Construction, Transition.

(2) Elaboration, Construction,
Inception, Transition.

(3) Construction, Inception,
Elaboration, Transition.

(4) Construction, Transition,

Inception, Elaboration.

12



78. AR et AISH WiHAT 1 T 3
(1) fren 3R @i feome -

79,

80.

12

(2) fowem 3R diwerr fosten

FRITEI IR ?[\El"c' gfieror >
Thio 3 fwew wfiemr >
STIRIHATE IRHTYT --> HererT 3ik
LLCEECICH

-—
STITIHATE TR --> Ty 3ik
W > R 3R e
T{e > whew 3k fRrem
ERiti

(3) IrTavERATE TRUTST -> W afk

HRRR 18 > Frrf=eg 3t
THIE TR > wElewm 3k
T@@E --> ThHR 3R yomed
wteror

(4) ITEIFHATE IRATT —-> Yot 37k

R f5oTe > wrafam 3ik
THTS & --> THTeRTT 3R somedt
uﬁw-->maﬂtw

%uﬁnﬁmqﬁaég"r(fzsnﬁ

HHSG Pt TR ITH BT & |
(1) ¥ 3T ol

(2) URE 3T e

(3) 98 37T Saddw

(4) 3T IR St it dodfer ot

sTsEEH fafY & 59 9 & off s St

2

(1) sfem Aerg
(3) weAise AU

(2) WpoR g
4) fafrrays

|
|
|
l
|
|
|
|
|
J
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7o

80.

78. The correct order of the water fall

model process is

M

(2)

3)

4

System and Software Design -->
Implementation and Unit Testing
--> Integration and System

Testing --> Requirements
Definition --> Operation and
Maintenance.

System and Software Design -->
Requirements  Definition -->
Operation and Maintenance -->
Implementation and Unit Testing

--> Integration and System
Testing.
Requirements  Definition  -->

System and Software Design -->
Implementation and Unit Testing
--> Operation and Maintenance -->
Integration and System Testing.

Requirements  Definition -->
System and Software Design -->

Implementation and Unit Testing

--> Integration and System
Testing -->  Operation and
Maintenance.

The sorted key sequence is received in
Binary Search Tree (BST) using

M
(2
3)
4)

In order traversal
Post order traversal
Preorder traversal
Both

traversal

In order and Preorder

Bisection method is also known as

(1)
)
3)
4)

Bracketing method
Circular method
Closed method
Linear method



81.

82.

SR e B O R TR il /-7

(1) (@@"m) /3
2) 3 + (TEH)
3) M- (F&TH)
(4) Ffe/ (wEaH)

me3+2x—l={)qﬁéﬂaﬂe{
¥ ford =gea-uwen faftr w1 s foa
ST & @ x, = 1.2 B AR @fahe

T o g T TREN & 3T 4 g
U _

(1) -0.820 (2) 0.490

(3) 0.705 4) 1.692

83. s g wiwwl % & P w

84.

8s.

@ w0 ¥ e e el fofy 9
frvefieor st & wEfia Bl §

(1) fermol amrege

) T Byt aege

(3) 3uR Brgsfrar sm=ge

(4) FTIHATT ST

g y(0)=1,y(1)=0,y(2)=19y(3) =
10 B A y(x) 1 Wferehe B sgTe B
(1) y=x*+5

Q) y=x3-2x2+1

(3) y=x+2x2

(4) y=x3-2x+1

& el § x = 6 Wy H & AA
B ?

x|1](2]|7]|8
y|4[5]5]4

(1) 3 (2) 6
3) 3 4) 1773

| 81.

82.

83.

84.

|
|
!
|
|
s,
i
|
|
|
|

Relative error is calculated as
(1) (true value)/error

(2) error + (true value)

(3) error — (true value)

(4) error/(true value)

When the Newton — Raphson method
is applied to solve the equation
3 + 2x — 1 = 0, the solution at the end
of the first iteration with the initial
approximate value as x, = 1.2 is

(1) —0.820 (2) 0.490
(3) 0.705 (@) 1.692

In the Gauss elimination method for
solving a system of linear algebraic

equations, triangularization leads to
(1) Diagonal matrix

(2) Lower triangular matrix

(3) Upper triangular matrix

(4) Singular matrix

The cubic polynomial  which
approximates y(x) given that y(0) =1,
y(1)=0,y(2)=1,y(3)=10.

(1) y=x3+5

Q) y=x3-2x2+1

(3) y=x3+2x2

4) y=x3-2x+1

What is the value of y on x = 6 from
the following table :

2]7]s]

515]4]
(2) 6
4) 1773

x |1
y |4

(1) 3
3) 5
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86.

87.

88.

89.

90.

12

Y% IS T3 5 gl Y TY Y
SN Al 0 & R, w8 o Ry
AT 8 o ST R 7

(1) ot fafr
(3) =z fafy

(2) TR fafy
(4) =% fafy

ARG ®e Ffe 3 Repew qfe &
ST TR B

(1) 2:1 @2) 1:1
(3) 1:2 4) 1:3
e wfiento & got T W F Ry

g fafy, fafy € o9 <t o
I B ?

(1) foga (2) HIHIHT
3) Igfas (4) IMerE™
fer forg grogfsr foftr sl s g

HHIHTT x2 — 2x — 8 = O T &1 T BWYT
R rg 52 = (28
T Y4 &Y ?

(1 3
3) 5

2) 4
4) 4.5

St 95 % TR R F w1, 5

T 1 BT AT wete frehr 39 Yo
2
-8 1 1 #] 1
'i 1 -5 1 J Xn ={ I6J
I 1 =4 x, 7
(1) -1.6523 (2) -2.9399
(3) -3.9448 (4) —0.9618

PR »_._.-‘__h-__.m.u-__,1_-m_“_wm\_ﬂm__,

[y
w

87.

88.

89.

o
=

To approximate the curve of solution
by the tangent in each interval, the
method is used

(1) Picard’s method

(2) Euler’s method

(3) Newton’s method

(4) Runge Kutta method

In general, the ratio of truncation error
to that of round off error is

(1) 2:1 2) 1:1

(3) 1:2 “4) 1:3

The bisection method of finding roots
of nonlinear equations falls under the
category of a (an) method

(1) open (2) bracketing
(3) random (4) graphical

+
The root of form x = (2_x;§)

starting with x, = 5 for the equation
x* — 2x — 8 = 0 using fixed point
iteration method, is
(1) 3
3) 5

(2) 4
(4) 4.5

After four iterations of Jacobi method,
what will be the value of x, for

following system of equations :

-8 1 1 X 1
1 -5 | Xa = 16
1 1 -4 2 7

(1) -1.6523 (2) -2.9399
(3) —3.9448 (4) -0.9618



91.

92.

93.

94.

95.

96.

97,

98.

(0.6875),, %1 &g (ATell) T4

(1) 0.1011 (2) 0.1101
(3) 0.1001 (4) 0.1110

012398 &1 10's T @ (10%s

complement)
(1) 876511 (2) 987601
(3) 987602 (4) 876510

zsTerE g@ 9 1 oLHLEL HiE (RT)
g

(1) 1010
(3) 1111

(2) 1001
(4) 1110

WWF=x'yz'+x'y'z$Ng$%
(1) x+y+2)(xty+2z)
Q) x+y+zZ)(xt+y+z)
(G) Wyt ty +2)
(4) @+y+z)(xty+z)

a2 x T e =R, AW x - x Forwch god
27

() O
3) 1

frefifag # @ ®H, Rhea it
et & 2 7

2) x
4) X'

(1) CMOS (2) ECL
(3) TTL (4) DMA
e § § B o1 g x F y e #

27 T ST 90T fie (S) T SAEAST
¥ PreTo T ® 2

(1) S=x+Yy (2) S=x Dy
(3) S=x-y 4 S=x-y
T 4 x 16 it T % o =g
i 3 x 8 TeRrt TATH @ 7

(L) 3 ) 2

(3) 4 4 1

|
|
l
!
|
I
l
!
|
l
l
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91.

92.

93.

96.

97.

98.

Binary equivalent of (0.6875),, 18

(1) 0.1011 (2) 0.1101
(3) 0.1001 (4) 0.1110

The 10’s complement of 012398 is
(1) 876511 (2) 987601
(3) 987602 (4) 876510

BCD code for decimal 9 is
(1) 1010 (2) 1001
(3) 1111 (4) 1110

Complement of the Boolean function -
F=x'yz +x'y'zis

() G+y +2)x+y+2)

Q) x+y+z)(xty+z)

(B) W+y+ ' +y +2)

@) x+y+2)x+y+z)

If x is a Boolean variable, x - x equals :

(1) 0 2) x
3) 1 4) x'

Which one of the following, does not
belong to Digital Logic Family ?

(1) CMOS (2) ECL

(3) TTL (4) DMA

Which of the following equations
represent sum bit(S) in a half adder,
working on input x and y bits ?

(1) S=x+y (2) S=x @y
(3) S=x-y (4) S=x-Y'

How many minimum 3 x 8 Decoders
are sufficient for making a 4 x 16
Decoder ?
(1) 3
3) 4

() 2
4) 1

12



99.

100.

101.

102.

103.

104.

105.

12

T ITR01 3R ged Wi & ffe wiw | 99,

(data) =1 fafama fomm seer =) &g 3
AT Tl & -
(1) W (Yeu vy o9d)

(2) #idiy
3) gy
(4) " (PROM)

A AT 617 FETRRIT ¥ ST
2

(1) 269
(3) 18F
SHIHE o 9 W FAST Uige ST o
% ¥ § foran 7 gepan &

(1) 1.001 x 23 (2) 1.0001 x 23
(3) 0.001 x 23 (4) 0.0001 x 23

Www@m
W=AB+CD+ ACD

(1) W=A+B+C+D

2) W=A+B+C+D

3) W=A+B+C+D

(4 W=A.-B+C-D
ﬁmﬁﬁﬁmcﬁwﬁmﬁmﬁqﬁ
292

(1) Integer

@) s6e
(4) 399

(2) Float

" (3) Union (4) Character
= 3 @ B a C # gefiere (keyword)
TR
(1) auto (2) stop -

(3) break (4) static

59 Be (fn) g0 Fofiveet & 79 e
ST 8 2

(1) getf)) (2) scanf()

(3) printf() (4) send()

!
|
|
|
i
!
|
|
|
|
|
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100.

101.

102.

103.

104.

105.

Which of the following allows direct
data transfer between a device and
main memory without involving the

processor ?

(I) RAM (2) CpU

(3) DMA (4) PROM

The decimal number 617 s
hexadecimal equivalent to

(1) 269 2) 2cc

(3) 18F (4) 399

The Decimal number 9 can be written
as floating point Binary number as

(1) 1.001 x 23 (2) 1.0001 x 23
(3) 0.001 x 23 (4) 0.0001 x 23

The simplified output of the function

W=AB+CD+ ACD
() W=A+B+C+D
(2) W=A+B+C+D
(B) W=A+B+C+D
4 W=A-B+C-D

Which is not a primary constant in C ?
(1) Integer (2) Float
(3) Union (4) Character

Which is not a keyword in C ?
(1) auto (2) stop
(3) break (4) static

Which function receives value from
the key board ?

(1) getf()
(3) printf()

(2) scanf()
(4) send()



106.

107.

108.

109.

110.

111.

112.

113.

C st & veeteE 3/2*4+3/8+3
&7 /I 1 BT 2

) s
(3) 4

(2) 6
@ 7

fr o § @ 91 B Y= (ternary

operator) 37

(1) & 2) &&

3) ! 4) ?7:

r Pra e Fred srerey fspedi |
T AT T B, HEEI 8

(1) integer (2) function

(3) switch (4) variable

frer O @ ® @1 Hoiwsg (keyword)
FTENE T O Y A = 2

(1) switch (2) case

(3) break (4) goto

Ife s C U™ # Had Th B (fn)
&, d 98 B

(1) getch()
(3) exit()

(2) main()
(4) void()

S et B 8 Fwam it
fpEehi 8 2

(1) && Q) +

@) = “4) !

& HATerEe- ST STewl 3§ qd W-
TTEH T 3

(1) oo (=f)  (2) weH

(3) AT @) fafmt

T TE GEE H T Rl H wde
(afereT) HETAT |

(1) diefmifesa (2) FCdeasl

(3) feraem (4) TAHGATHA

106.

107.

108.

109.

110.

111.

What will be the value of expression
3/2 * 4 +3 /8 + 3 in C programming ?
m s 2) 6
(3) 4 @ 7

Which of the following is a temary:

operator ?
1) & 2) &&
3) ! 4 ?:

The control statement that allows us to

make a decision from the number of

choices, is called a/an
(1) integer (2) function
(3) switch (4) variable

Which keyword should be avoided as
far as possible ?
(1) switch
(3) break

(2) case
(4) goto

If a C program contains only one
function, it must be
(1) getch() -

(3) exit()

(2) main()
(4) void()

Among the operators, which has
highest priority ?
(1) &&

@3) =

@ +
@) !

. Basic run-time entities in an object-

oriented system are
(1) classes
(3) objects

(2) functions
(4) methods

. The wrapping up of data and functions

into a single unit is called
(1) Polymorphism (2) Inheritance
(3) Deviation (4) Encapsulation

12
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114.

115.

116.

117.

118.

119.

120.

12

&R

= 7 @ 39 & srisdge st wT

(1) &l (Ruby)

(2) 9R=heT (PASCAL)
(3) HHIEH (Smalltalk)
(4) o <E =™ (C++)

e wfr g0 ™ ww ¥ atew
I FAE F ITedde & TOIIHT Y ATy
S 7

(1) =iy (2) wichHifhen

(3) TIHERE  (4) TISHRH

C++ 1 Topu faepiera e 2 |
(1) 9 ofaEa

2) sfg fe=h i
(3) I wieg

(4) siTeE 9

C++ T <stdio.h> ! ’Ta g & ;

(1) <cstdlib>
(3) <cstdio>

(2) <stdio>
(4) <stdio.c>

C++ 4 %1 91 Hieg frgy atfret 2 2
(1) endl (2) setw
(3) new (4) delete
C++ ¥ foe fgwsn ot stfet <<y |
3R forg v § wim w § 7 |
(1) o i & J!
(2) ImH i
3) gfgH E
(4) sEH ]
SET %¥F import java.lang.Math; # !,
Math%: ]
(1) st @) B |
(3) wH (4) Bz |
.23

115.

116.

117.
118.

119.

o
2
=

. In

| 114. Which of the following is not an

object oriented language ?
(1) Ruby

(2) PASCAL

(3) Smalltalk

(4) C++

The process by which objects of one
class acquire properties of objects of

another class is known as
(1) inheritance (2) polymorphism

(3) encapsulation (4) abstraction

C++ was developed by
(1) ken Thompson
(2) Denis Richie

(3) Bjarne Stroustrup
(4) Donald Knuth

<stdio.h> may be written as (in C++)
(1) <cstdlib> (2) <stdio>
(3) <cstdio> (4) <stdio.c>

Which is the field width operator in
C++?

(1) endl (2) setw

(3) new (4) delete

In C++ << operator used for shifting
bits can also be used for

(1) displaying values
(2) addition
(3) increment
(4) decrement
the Java statement import
java.lang.Math; Math is
(1) Object (2) Package
(3) Class (4) Method
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